

The Generalized k -Fibonacci and k -Lucas Numbers

K. Uslu, N. Taskara, H. Kose*
Selçuk University, Science Faculty,
Department of Mathematics,
42075, Campus, Konya, Turkey

July 13, 2010

Abstract

In this paper we give the generalization $\{G_{k,n}\}_{n \in \mathbb{N}}$ of k -Fibonacci and k -Lucas numbers. After that, by using this generalization, it has been obtained some new algebraic properties on these numbers.

Keywords : Generalized k -Fibonacci numbers, Generalized k -Lucas numbers

AMS Classification : 11B39, 11B65.

1 Introduction

In the last years, there is huge interest of positive science in the application of Fibonacci and Lucas numbers. The well-known Fibonacci $\{F_n\}$, Lucas $\{L_n\}$ and Generalized Fibonacci $\{G_n\}$ sequences are defined for $n \geq 2$ recurrence relations $F_n = F_{n-1} + F_{n-2}$, ($F_0 = 0$, $F_1 = 1$), $L_n = L_{n-1} + L_{n-2}$, ($L_0 = 2$, $L_1 = 1$), $G_n = G_{n-1} + G_{n-2}$, ($G_0 = a$, $G_1 = b$, $a, b \in \mathbb{R}$), respectively. In the literature, we can see generalizations of the Fibonacci and Lucas sequence [1-10].

For rich applications of these numbers in science and nature, one can see the citations in [11-13]. For instance, the ratio of two consecutive of these numbers converges to the Golden section $\alpha = \frac{1+\sqrt{5}}{2}$. (The applications of Golden ratio appears in many research areas, particularly in Physics,

*E-mail : kuslu@selcuk.edu.tr ntaskara@selcuk.edu.tr hkose@selcuk.edu.tr

Engineering, Architecture, Nature and Art. Physicists Naschie and Marek-Crnjac gave some examples of the Golden ratio in Theoretical Physics and Physics of High Energy Particles. In [14,15], some new properties of Fibonacci and Lucas numbers with binomial coefficients have been obtained to write Fibonacci and Lucas sequences in a new direct way.

Falcon and Plaza, in [16-19], introduced k -Fibonacci sequence $\{F_{k,n}\}_{n=0}^{\infty}$ by using Fibonacci and Pell sequences. Many properties of these numbers were deduced directly from elementary matrix algebra. Furthermore the 3-dimensional k -Fibonacci spirals were studied from a geometric point of view.

In this paper, we have defined a generalization $\{G_{k,n}\}_{n \in \mathbb{N}}$ of k -Fibonacci and k -Lucas numbers given in [6,16]. For these numbers, we obtained generalized Binet formula. In addition to this definition, we have investigated the some new algebraic properties of generalized k -Fibonacci, k -Lucas numbers.

2 Main result

In this section, we define a generalization $\{G_{k,n}\}_{n \in \mathbb{N}}$ of k -Fibonacci and k -Lucas numbers. Also, we obtain some equalities related with this generalization. Now, we can give following generalization.

Definition 1 For any positive real number k , Generalized k -Fibonacci sequence $\{G_{k,n}\}_{n \in \mathbb{N}}$ is defined recurrently by

$$G_{k,n+1} = kG_{k,n} + G_{k,n-1}, \quad n \geq 1 \quad (1)$$

with initial conditions $G_{k,0} = a$, $G_{k,1} = b$ ($a, b \in \mathbb{R}$).

Generalized k -Fibonacci number is called to each element of Generalized k -Fibonacci sequence. For $a = 0$, $b = 1$ and $a = 2$, $b = 1$, it has been obtained k -Fibonacci sequence and k -Lucas sequence, respectively. Also, Generalized k -Fibonacci sequence have turned into integer number sequence for some special values of k . For example, in Generalized k -Fibonacci sequence $\{G_{k,n}\}_{n \in \mathbb{N}}$;

i. If $k = 1$, then we have Generalized Fibonacci sequence

$$\{G_{1,n}\} = \{a, b, a + b, a + 2b, 2a + 3b, \dots\}.$$

- For $a = 0$, $b = 1$, it has been obtained Fibonacci sequence known as $F_n = \{0, 1, 1, 2, 3, 5, \dots\}$.
- For $a = 2$, $b = 1$, it has been obtained Lucas sequence known as $L_n = \{2, 1, 3, 4, 7, 11, \dots\}$.

ii. If $k = 2$, then we have Generalized Pell sequence

$$\{G_{2,n}\} = \{a, b, a + 2b, 2a + 5b, 5a + 12b, 12a + 29b, \dots\}.$$

- For $a = 0, b = 1$, it has been obtained Pell sequence known as $P_n = \{0, 1, 2, 5, 12, 29, \dots\}$.
- For $a = 2, b = 2$, it has been obtained Pell-Lucas sequence known as $P_n = \{2, 2, 6, 14, 34, 82, \dots\}$.

Now, we can write the characteristic equation of (1) as

$$\alpha^2 = k\alpha + 1 \tag{2}$$

Let α_1 and α_2 be the roots of (2) for $\alpha_1 > \alpha_2$. Then, the following identities are hold:

1.
$$\alpha_1 = \frac{k + \sqrt{k^2 + 4}}{2}, \alpha_2 = \frac{k - \sqrt{k^2 + 4}}{2} \tag{3}$$

2. $\alpha_1 < 0 < \alpha_2, |\alpha_2| < \alpha_1$

3. $\alpha_1 + \alpha_2 = k, \alpha_1\alpha_2 = -1, \alpha_1 - \alpha_2 = \sqrt{k^2 + 4}$.

During this study, we will firstly denote $G_{k,n}$ as Generalized k -Fibonacci number and define the Generalized Binet Formula. Then we will new formulas and properties related to Generalized k -Fibonacci sequence by using (1).

Lemma 2 For $\forall n \in \mathbb{N}$, the relations hold $\alpha_1^{n+2} = k\alpha_1^{n+1} + \alpha_1^n$ and $\alpha_2^{n+2} = k\alpha_2^{n+1} + \alpha_2^n$ [2,17].

Theorem 3 For $X = \frac{a+b\alpha_1}{\alpha_1}$ and $Y = \frac{a+b\alpha_2}{\alpha_2}$, we have the Generalized Binet Formula

$$G_{k,n} = \frac{X \alpha_1^n - Y \alpha_2^n}{\alpha_1 - \alpha_2}. \tag{4}$$

Proof. Let us use the principle of mathematical induction on n .

For $n = 0$, it is easy to see that

$$\begin{aligned} \frac{1}{\alpha_1 - \alpha_2} (X \alpha_1^0 - Y \alpha_2^0) &= \frac{1}{\alpha_1 - \alpha_2} \left[\frac{a + b\alpha_1}{\alpha_1} - \frac{a + b\alpha_2}{\alpha_2} \right] \\ &= \frac{1}{\alpha_1 - \alpha_2} \left[\frac{a\alpha_2 + b\alpha_1\alpha_2 - a\alpha_1 - b\alpha_1\alpha_2}{\alpha_1\alpha_2} \right] \\ &= \frac{a(\alpha_1 - \alpha_2)}{(\alpha_1 - \alpha_2)} = a = G_{k,0}. \end{aligned}$$

Assume that it is true for all positive integers i . That is, $G_{k,i} = \frac{X \alpha_1^i - Y \alpha_2^i}{\alpha_1 - \alpha_2}$. Therefore, we have to show that it is true for $n = i + 1$. From the definition of Generalized k -Fibonacci number, (4) and Lemma 2, we can write

$$\begin{aligned} G_{k,i+1} &= kG_{k,i} + G_{k,i-1} \\ &= \frac{k}{\alpha_1 - \alpha_2} [X \alpha_1^i - Y \alpha_2^i] + \frac{1}{\alpha_1 - \alpha_2} [X \alpha_1^{i-1} - Y \alpha_2^{i-1}] \\ &= \frac{X \alpha_1^{i-1} [k\alpha_1 + 1] - Y \alpha_2^{i-1} [k\alpha_2 + 1]}{\alpha_1 - \alpha_2} \\ &= \frac{X \alpha_1^{i+1} - Y \alpha_2^{i+1}}{\alpha_1 - \alpha_2} \end{aligned}$$

which ends up the induction. Therefore we have the required formulate on $G_{k,n} = \frac{X \alpha_1^n - Y \alpha_2^n}{\alpha_1 - \alpha_2}$. ■

In the following theorem, it is given the ratio of two consecutive of Generalized k -Fibonacci numbers which is positive root α_1 of characteristic equation of (1). It is interesting that the well-known golden ratio $\alpha = \frac{1+\sqrt{5}}{2}$ is clear for $k = 1$ in (1).

Theorem 4 We have the relation $\lim_{n \rightarrow \infty} \frac{G_{k,n}}{G_{k,n-1}} = \alpha_1$.

Proof. From $|\alpha_2| < \alpha_1$, we have $\lim_{n \rightarrow \infty} \left(\frac{\alpha_2}{\alpha_1}\right)^n = 0$. By considering (4), we write

$$\begin{aligned} \lim_{n \rightarrow \infty} \frac{G_{k,n}}{G_{k,n-1}} &= \lim_{n \rightarrow \infty} \frac{\left(\frac{X \alpha_1^n - Y \alpha_2^n}{\alpha_1 - \alpha_2}\right)}{\left(\frac{X \alpha_1^{n-1} - Y \alpha_2^{n-1}}{\alpha_1 - \alpha_2}\right)} = \lim_{n \rightarrow \infty} \frac{\alpha_1^n \left[X - Y \left(\frac{\alpha_2}{\alpha_1}\right)^n\right]}{\alpha_1^{n-1} \left[X - Y \left(\frac{\alpha_2}{\alpha_1}\right)^{n-1}\right]} \\ &= \lim_{n \rightarrow \infty} \frac{X - Y \left(\frac{\alpha_2}{\alpha_1}\right)^n}{\frac{X}{\alpha_1} - Y \left(\frac{\alpha_2}{\alpha_1}\right)^n \frac{1}{\alpha_1}} = \alpha_1. \end{aligned}$$

■

In the following theorem, it has been given the sum of Generalized k -Fibonacci numbers.

Theorem 5 We have the relation $k \sum_{i=1}^n G_{k,i} = G_{k,n+1} + G_{k,n} - (a + b)$.

Proof. Using the summation symbol in (1), we can write $\sum_{i=1}^n G_{k,i+1} = k \sum_{i=1}^n G_{k,i} + \sum_{i=1}^n G_{k,i-1}$. If the last equation is arranged, then we obtain

$$G_{k,2} + \dots + G_{k,n} + G_{k,n+1} = k \sum_{i=1}^n G_{k,i} + (G_{k,0} + G_{k,1} \dots + G_{k,n-2} + G_{k,n-1}).$$

Consequently, if we make the sufficient simplifications, we have the formula

$$k \sum_{i=1}^n G_{k,i} = G_{k,n} + G_{k,n+1} - (a + b). \quad \blacksquare$$

We can give the following generalized Cassini's or Simson's identity for generalized k -Fibonacci and k -Lucas numbers.

Theorem 6 For $G_{k,0} = a$, $G_{k,1} = b$, we have the relation $G_{k,n-1}G_{k,n+1} - G_{k,n}^2 = (-1)^{n-1} [abk + a^2 - b^2]$.

Proof. Let us consider the system

$$\begin{aligned} G_{k,n}x + G_{k,n-1}y &= G_{k,n+1} \\ G_{k,n+1}x + G_{k,n}y &= G_{k,n+2}. \end{aligned}$$

If we denote

$$A = \begin{pmatrix} G_{k,n} & G_{k,n-1} \\ G_{k,n+1} & G_{k,n} \end{pmatrix}, \quad u = \begin{pmatrix} x \\ y \end{pmatrix}, \quad b = \begin{pmatrix} G_{k,n+1} \\ G_{k,n+2} \end{pmatrix},$$

then this system can be written in matrix form $Au = b$. It is obvious that the solution of this system is $\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} k \\ 1 \end{pmatrix}$. Also, the determinant of matrix A is

$$|A| = \begin{vmatrix} G_{k,n} & G_{k,n-1} \\ G_{k,n+1} & G_{k,n} \end{vmatrix} = G_{k,n}^2 - G_{k,n-1}G_{k,n+1} \neq 0$$

By using the cramer method, we have the following solution

$$y = \frac{\begin{vmatrix} G_{k,n} & G_{k,n+1} \\ G_{k,n+1} & G_{k,n+2} \end{vmatrix}}{\begin{vmatrix} G_{k,n} & G_{k,n-1} \\ G_{k,n+1} & G_{k,n} \end{vmatrix}} = 1.$$

If this solution is arranged, then we can write the identity $G_{k,n+2}G_{k,n} - G_{k,n+1}^2 = - (G_{k,n-1}G_{k,n+1} - G_{k,n}^2)$. Let us take

$$P_{k,n} = G_{k,n+2}G_{k,n} - G_{k,n+1}^2. \quad (5)$$

Therefore, we have

$$P_{k,n} = -P_{k,n-1}. \quad (6)$$

To prove the correction of (6), we use the iteration method. For $n = 1$, it is clearly seen that

$$\begin{aligned} P_{k,1} &= -P_{k,0} = -(G_{k,2}G_{k,0} - G_{k,1}^2) \\ &= -((bk + a)a - b^2). \end{aligned}$$

Hence, by iterating this procedure, we can write the formula $P_{k,n} = (-1)^n [abk + a^2 - b^2]$ or using the equation (5), we write $G_{k,n-1}G_{k,n+1} - G_{k,n}^2 = (-1)^{n-1} [abk + a^2 - b^2]$ as required. ■

The following theorem gives the sum of even (and odd) Generalized k -Fibonacci numbers.

Theorem 7 *The following equalities hold for Generalized k -Fibonacci even (and odd) numbers:*

$$i) \sum_{i=1}^n G_{k,2i} = \frac{1}{k} [G_{k,2n+1} - b].$$

$$ii) \sum_{i=1}^n G_{k,2i+1} = \frac{1}{k} [G_{k,2n+2} - a - bk].$$

Proof.

i) By using Generalized Binet Formula given in (4), we write

$$\begin{aligned} \sum_{i=1}^n G_{k,2i} &= \sum_{i=1}^n \frac{X\alpha_1^{2i} - Y\alpha_2^{2i}}{\alpha_1 - \alpha_2} = \frac{1}{\alpha_1 - \alpha_2} \left[X \sum_{i=1}^n \alpha_1^{2i} - Y \sum_{i=1}^n \alpha_2^{2i} \right] \\ &= \frac{1}{\alpha_1 - \alpha_2} \left[X\alpha_1^2 \left(\frac{\alpha_1^{2n} - 1}{\alpha_1^2 - 1} \right) - Y\alpha_2^2 \left(\frac{\alpha_2^{2n} - 1}{\alpha_2^2 - 1} \right) \right] \\ &= \frac{1}{\alpha_1 - \alpha_2} \left[\frac{(X\alpha_1^{2n+2} - X\alpha_1^2)(\alpha_2^2 - 1)}{(\alpha_1^2 - 1)(\alpha_2^2 - 1)} \right] \\ &\quad + \frac{1}{\alpha_1 - \alpha_2} \left[\frac{(-Y\alpha_2^{2n+2} + Y\alpha_2^2)(\alpha_1^2 - 1)}{(\alpha_1^2 - 1)(\alpha_2^2 - 1)} \right]. \end{aligned}$$

Hence, by rearranging the last equality, we can write the formula

$$\begin{aligned} \sum_{i=1}^n G_{k,2i} &= \frac{-1}{k^2} \left[- \left(\frac{X - Y}{\alpha_1 - \alpha_2} \right) - \left(\frac{X\alpha_1^{2n+2} - Y\alpha_2^{2n+2}}{\alpha_1 - \alpha_2} \right) \right] + \\ &\quad \frac{-1}{k^2} \left[\left(\frac{X\alpha_1^2 - Y\alpha_2^2}{\alpha_1 - \alpha_2} \right) + (\alpha_1\alpha_2)^2 \left(\frac{X\alpha_1^{2n} - Y\alpha_2^{2n}}{\alpha_1 - \alpha_2} \right) \right] \\ &= \frac{-1}{k^2} [-G_{k,0} - G_{k,2n+2} + G_{k,2} + G_{k,2n}] \\ &= \frac{1}{k^2} [-bk + kG_{k,2n+1}] = \frac{1}{k} [G_{k,2n+1} - b]. \end{aligned}$$

ii) By applying the same method as in the proof of i), the proof can be seen easily.

■

By using the above theorems, the following results which are well-known in literature can be written.

Corollary 8 (a) For $a = 0$, $b = 1$, we can write $G_{k,n} = F_{k,n}$ and it is obtained the k -Fibonacci identities in [17-19] as given:

- $F_{k,n} = \frac{\alpha_1^n - \alpha_2^n}{\alpha_1 - \alpha_2}$, $\lim_{n \rightarrow \infty} \frac{F_{k,n}}{F_{k,n-1}} = \alpha_1$, $F_{k,n-1}F_{k,n+1} - F_{k,n}^2 = (-1)^n$,
- $\sum_{i=1}^n F_{k,i} = \frac{1}{k} (F_{k,n} + F_{k,n+1} - 1)$,
- $\sum_{i=1}^n F_{k,2i} = \frac{1}{k} (F_{k,2n+1} - 1)$, $\sum_{i=1}^n F_{k,2i+1} = \frac{1}{k} (F_{k,2n+2} - k)$.

(b) For $a = 2$ and $b = 1$, we can write $G_{k,n} = L_{k,n}$ and it is obtained the k -Lucas identities in [6] as given:

- $\lim_{n \rightarrow \infty} \frac{L_{k,n}}{L_{k,n-1}} = \alpha_1$, $L_{k,n-1}L_{k,n+1} - L_{k,n}^2 = (-1)^{n-1} (2k + 3)$,
- $L_{k,n} = \frac{X\alpha_1^n - Y\alpha_2^n}{\alpha_1 - \alpha_2}$, where $X = \frac{2+\alpha_1}{\alpha_1}$ and $Y = \frac{2+\alpha_2}{\alpha_2}$,
- $\sum_{i=1}^n L_{k,i} = \frac{1}{k} (L_{k,n} + L_{k,n+1} - 3)$,
- $\sum_{i=1}^n L_{k,2i} = \frac{1}{k} (L_{k,2n+1} - 1)$, $\sum_{i=1}^n L_{k,2i+1} = \frac{1}{k} (L_{k,2n+2} - (k + 2))$.

References

- [1] Hoggat VE, Fibonacci and Lucas numbers, Palo Alto, CA: Houghton; 1969.
- [2] Koshy T., Fibonacci and Lucas Numbers with Applications, John Wiley and Sons Inc, NY, 2001.
- [3] Kalman D., Generalized Fibonacci numbers by matrix methods, Fibonacci Q., 20 (1), 73-76, 1982.
- [4] Lee G.Y., Lee S.G., Kim J.S., Shin H.K., The Binet formula and representations of k -generalized Fibonacci numbers, Fibonacci Q., 39 (2), 158-164, 2001.
- [5] Kilic E., The generalized order- k Fibonacci-Pell sequence by matrix methods, J. Comput. Appl. Math., doi: 10.1016/J.cam.2006.10.071, 2006.

- [6] Bolat C., Properties and applications of k -Fibonacci, k -Lucas numbers, M.S. Thesis, Selcuk University, 2008, Konya, Turkey.
- [7] Arthur T. Benjamin, Jennifer J. Quinn and Francis Edward Su, Phased Tilings and Generalized Fibonacci Identities, *Fibonacci Quarterly* June-July 2000; Vol.38 no:3: 282-288.
- [8] Stakhov A, Fibonacci matrices, a generalization of the 'Cassini formula', and a new coding theory, *Chaos, Solitons & Fractals* 2006; 30:56-66.
- [9] DG M. Farrokhi, Some Remarks On the Equation $F_n = kF_m$ In Fibonacci Numbers, *Journal of Integer Sequences* 2007; Vol. 10.
- [10] Spivey MZ, Combinatorial sums and finite differences, *Discrete Mathematics* 2007; 307, 3130-3146.
- [11] El Naschie MS., The golden mean in quantum geometry, Knot theory and related topics, *Chaos, Solutions & Fractals*, 1999, 10(8), 1303-7.
- [12] Marek-Crnjac L., On the mass spectrum of the elementary particles of the standard model using El Naschie's golden field theory, *Chaos, Solutions & Fractals*, 2003, 15(4), 611-8.
- [13] El Naschie MS., Notes on super strings and the infinite sums of Fibonacci and Lucas numbers, *Chaos, Solutions & Fractals*, 2001, 1937-1940.
- [14] Gulec H.H., Taskara N., On The Properties of Fibonacci Numbers with Binomial Coefficients, *Int. J. of Contemp. Math. sci.*, 2009, vol:4, no:25, 1251-1256.
- [15] Taskara N., Uslu K., Gulec H. H., On the properties of Lucas numbers with binomial coefficients, *Appl. Math. Lett.*, 2009, doi:10.1016/j.aml.2009.08.007.
- [16] Falcon S., Plaza A., On the Fibonacci k -Numbers, *Chaos, Solitons & Fractals* 32, 1615-1624, 2007.
- [17] Falcon S., Plaza A., The k -Fibonacci sequence and the Pascal 2-triangle, *Chaos, Solitons & Fractals*, 33 (1), 38-49, 2007.
- [18] Falcon S., Plaza A., On the 3-dimensional k -Fibonacci spirals, *Chaos, Solitons & Fractals*, 38, 993-1003, 2008.
- [19] Falcon S., Plaza A., On k -Fibonacci numbers of arithmetic indexes, *Applied Mathematics and Computation*, 208 (1), 180-185, 2009.